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On an air table we print the trajectory of the center of mass

of a puck.

The points are printed at regular equal intervals of time τ= 50ms.

1.Calculate the average speed between: 𝐆𝟏 & 𝐆𝟑 and between

𝑮𝟑 & 𝑮𝟓.

2.Calculate the instantaneous speed at 𝑮𝟐, 𝑮𝟒 and at 𝑮𝟔.

3.Give the characteristics of velocity vector at 𝑮𝟒 then

represent it. scale of 𝟏𝒄𝒎 → 𝟎. 𝟐𝟕𝟓𝒎/𝒔.

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎
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4.Calculate the average acceleration between 𝑮𝟐 & 𝑮𝟒 and

between 𝑮𝟒 & 𝑮𝟔.

5.Calculate the instantaneous acceleration at G3 and G5.

6.What is the nature of motion of the puck? Justify your

answer.

7.Give the characteristics of acceleration vector at 𝑮𝟑 then

represent it. scale of 𝟏𝒄𝒎 → 𝟏𝒎/𝒔𝟐.

Quiz                             Physics          duration: 15 min 



1. Calculate the average speed between:𝑮𝟏 &𝑮𝟑; 𝑮𝟑 & 𝑮𝟓

𝑽𝟏,𝟑 =
𝑮𝟏𝑮𝟑
𝒕𝟑 − 𝒕𝟏

Quiz                               Physics          duration: 15 min 

𝝉 = 𝟓𝟎𝒎𝒔 ÷ 𝟏𝟎𝟎𝟎 = 𝟎. 𝟎𝟓𝒔;

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

𝑽𝟏,𝟑 =
𝑮𝟏𝑮𝟐 + 𝑮𝟐𝑮𝟑

𝟑𝝉 − 𝝉

𝑽𝟏,𝟑 =
(𝟏. 𝟓 + 𝟐) × 𝟏𝟎−𝟐

𝟐𝝉
𝑽𝟏,𝟑 =

𝟑. 𝟓 × 𝟏𝟎−𝟐

𝟐 × 𝟎. 𝟎𝟓

𝑽𝟏,𝟑 = 𝟎. 𝟑𝟓𝒎 ∕ 𝒔



1. Calculate the average speed between:𝑮𝟏 &𝑮𝟑; 𝑮𝟑 & 𝑮𝟓

𝑽𝟑,𝟓 =
𝑮𝟑𝑮𝟓
𝒕𝟓 − 𝒕𝟑
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𝝉 = 𝟓𝟎𝒎𝒔 ÷ 𝟏𝟎𝟎𝟎 = 𝟎. 𝟎𝟓𝒔;

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

𝑽𝟑,𝟓 =
𝑮𝟑𝑮𝟒 + 𝑮𝟒𝑮𝟓

𝟓𝝉 − 𝟑𝝉

𝑽𝟑,𝟓 =
(𝟐. 𝟓 + 𝟑) × 𝟏𝟎−𝟐

𝟐𝝉
𝑽𝟑,𝟓 =

𝟓. 𝟓 × 𝟏𝟎−𝟐

𝟐 × 𝟎. 𝟎𝟓

𝑽𝟑,𝟓 = 𝟎. 𝟓𝟓𝒎 ∕ 𝒔



2. Calculate the instantaneous speed at 𝑮𝟐, 𝑮𝟒 and at 𝑮𝟔.

𝑽𝟐 =
𝑮𝟏𝑮𝟑
𝟑𝝉 − 𝝉
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𝝉 = 𝟎. 𝟎𝟓𝒔;

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

𝑽𝟐 =
𝑮𝟏𝑮𝟐 + 𝑮𝟐𝑮𝟑

𝟐𝝉

𝑽𝟐 =
(𝟏. 𝟓 + 𝟐) × 𝟏𝟎−𝟐

𝟐 × 𝟎. 𝟎𝟓

𝑽𝟐 = 𝟎. 𝟑𝟓𝒎 ∕ 𝒔

𝑽𝟐 =
𝟑. 𝟓 × 𝟏𝟎−𝟐

𝟐 × 𝟎. 𝟎𝟓



2. Calculate the instantaneous speed at 𝑮𝟐, 𝑮𝟒 and at 𝑮𝟔.

𝑽𝟒 =
𝑮𝟑𝑮𝟓
𝒕𝟓 − 𝒕𝟑
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𝝉 = 𝟎. 𝟎𝟓𝒔;

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

𝑽𝟒 =
𝑮𝟑𝑮𝟒 + 𝑮𝟒𝑮𝟓

𝟓𝝉 − 𝟑𝝉

𝑽𝟒 =
(𝟐. 𝟓 + 𝟑) × 𝟏𝟎−𝟐

𝟐𝝉

𝑽𝟒 = 𝟎. 𝟓𝟓𝒎 ∕ 𝒔

𝑽𝟒 =
𝟓. 𝟓 × 𝟏𝟎−𝟐

𝟐 × 𝟎. 𝟎𝟓



2. Calculate the instantaneous speed at 𝑮𝟐, 𝑮𝟒 and at 𝑮𝟔.

𝑽𝟔 =
𝑮𝟓𝑮𝟕
𝒕𝟕 − 𝒕𝟓
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𝝉 = 𝟎. 𝟎𝟓𝒔;

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

𝑽𝟔 =
𝑮𝟓𝑮𝟔 + 𝑮𝟔𝑮𝟕

𝟕𝝉 − 𝟓𝝉

𝑽𝟔 =
(𝟑. 𝟓 + 𝟒) × 𝟏𝟎−𝟐

𝟐𝝉

𝑽𝟔 = 𝟎. 𝟕𝟓𝒎 ∕ 𝒔

𝑽𝟔 =
𝟕. 𝟓 × 𝟏𝟎−𝟐

𝟐 × 𝟎. 𝟎𝟓



3. Give the characteristics of velocity vector at 𝑮𝟒
then represent it. scale of 𝟏𝒄𝒎 → 𝟎. 𝟐𝟕𝟓𝒎/𝒔.

Quiz                              Physics           duration: 15 min 

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

𝟏𝒄𝒎 → Τ𝟎. 𝟐𝟕𝟓𝒎 𝒔
𝒙 =? ? → 𝟎. 𝟓𝟓𝒎/𝒔

Direction:

Origin: point 𝑮𝟒

Line of action: Horizontal

Magnitude:

To Right

𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔

𝒙 =
𝟏𝒄𝒎 × 𝟎. 𝟓𝟓𝒎/𝒔

Τ𝟎. 𝟐𝟕𝟓𝒎 𝒔

𝒙 = 𝟐𝒄𝒎

𝐕𝟒



4.Calculate the average acceleration between 𝑮𝟐 & 𝑮𝟒 and

between 𝑮𝟒 & 𝑮𝟔.

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

Quiz                               Physics          duration: 15 min 

𝝉 = 𝟎. 𝟎𝟓𝒔; 𝑽𝟐 = 𝟎. 𝟑𝟓𝒎/𝒔; 𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔; 𝑽𝟔 = 𝟎. 𝟕𝟓𝒎/𝒔

𝒂𝟐,𝟒 =
𝑽𝟒 − 𝑽𝟐
𝒕𝟒 − 𝒕𝟐

𝒂𝟐,𝟒 =
𝑽𝟒 − 𝑽𝟐
𝟒𝝉 − 𝟐𝝉

𝒂𝟐,𝟒 =
𝑽𝟒 − 𝑽𝟐
𝟐𝝉

𝒂𝟐,𝟒 =
𝟎. 𝟓𝟓 − 𝟎. 𝟑𝟓

𝟐 × 𝟎. 𝟎𝟓
𝒂𝟐,𝟒 =

𝟎. 𝟐

𝟎. 𝟏
𝒂𝟐,𝟒 = 𝟐𝒎 ∕ 𝒔𝟐



4.Calculate the average acceleration between 𝑮𝟐 & 𝑮𝟒 and

between 𝑮𝟒 & 𝑮𝟔.

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

Quiz                               Physics         duration: 15 min 

𝝉 = 𝟎. 𝟎𝟓𝒔; 𝑽𝟐 = 𝟎. 𝟑𝟓𝒎/𝒔; 𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔; 𝑽𝟔 = 𝟎. 𝟕𝟓𝒎/𝒔

𝒂𝟒,𝟔 =
𝑽𝟔 − 𝑽𝟒
𝒕𝟔 − 𝒕𝟒

𝒂𝟒,𝟔 =
𝑽𝟔 − 𝑽𝟒
𝟔𝝉 − 𝟒𝝉

𝒂𝟒,𝟔 =
𝑽𝟔 − 𝑽𝟒
𝟐𝝉

𝒂𝟒,𝟔 =
𝟎. 𝟕𝟓 − 𝟎. 𝟓𝟓

𝟐 × 𝟎. 𝟎𝟓
𝒂𝟒,𝟔 =

𝟎. 𝟐

𝟎. 𝟏
𝒂𝟒,𝟔 = 𝟐𝒎 ∕ 𝒔𝟐



5. Calculate the instantaneous acceleration at 𝑮𝟑 and at 𝑮𝟓.

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

Quiz                              Physics           duration: 15 min 

𝝉 = 𝟎. 𝟎𝟓𝒔; 𝑽𝟐 = 𝟎. 𝟑𝟓𝒎/𝒔; 𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔; 𝑽𝟔 = 𝟎. 𝟕𝟓𝒎/𝒔

𝒂𝟑 =
𝑽𝟒 − 𝑽𝟐
𝒕𝟒 − 𝒕𝟐

𝒂𝟑 =
𝑽𝟒 − 𝑽𝟐
𝟒𝝉 − 𝟐𝝉

𝒂𝟑 =
𝑽𝟒 − 𝑽𝟐
𝟐𝝉

𝒂𝟑 =
𝟎. 𝟓𝟓 − 𝟎. 𝟑𝟓

𝟐 × 𝟎. 𝟎𝟓
𝒂𝟑 =

𝟎. 𝟐

𝟎. 𝟏
𝒂𝟑 = 𝟐𝒎 ∕ 𝒔𝟐



5. Calculate the instantaneous acceleration at 𝑮𝟑 and at 𝑮𝟓.

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

Quiz                               Physics         duration: 15 min 

𝝉 = 𝟎. 𝟎𝟓𝒔; 𝑽𝟐 = 𝟎. 𝟑𝟓𝒎/𝒔; 𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔; 𝑽𝟔 = 𝟎. 𝟕𝟓𝒎/𝒔

𝒂𝟓 =
𝑽𝟔 − 𝑽𝟒
𝒕𝟔 − 𝒕𝟒

𝒂𝟓 =
𝑽𝟔 − 𝑽𝟒
𝟔𝝉 − 𝟒𝝉

𝒂𝟓 =
𝑽𝟔 − 𝑽𝟒
𝟐𝝉

𝒂𝟓 =
𝟎. 𝟕𝟓 − 𝟎. 𝟓𝟓

𝟐 × 𝟎. 𝟎𝟓
𝒂𝟓 =

𝟎. 𝟐

𝟎. 𝟏
𝒂𝟓 = 𝟐𝒎 ∕ 𝒔𝟐



6. What is the nature of motion of the puck? Justify your

answer.
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𝝉 = 𝟎. 𝟎𝟓𝒔; 𝑽𝟐 = 𝟎. 𝟑𝟓𝒎/𝒔; 𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔; 𝑽𝟔 = 𝟎. 𝟕𝟓𝒎/𝒔

Because 𝒂 = 𝟐𝒎 ∕ 𝒔𝟐 > 𝟎 then the motion is accelerated.



7.Give the characteristics of acceleration vector at 𝑮𝟑 then

represent it. scale of 𝟏𝒄𝒎 → 𝟏𝒎/𝒔𝟐.

𝐆𝟏 𝐆𝟑 𝐆𝟓𝐆𝟒 𝐆𝟔 𝐆𝟕𝐆𝟐

𝟏. 𝟓𝒄𝒎

𝟐𝒄𝒎 𝟐. 𝟓𝒄𝒎 𝟑𝒄𝒎 𝟑. 𝟓𝒄𝒎 𝟒𝒄𝒎

Quiz                               Physics          duration: 15 min 

𝝉 = 𝟎. 𝟎𝟓𝒔; 𝑽𝟐 = 𝟎. 𝟑𝟓𝒎/𝒔; 𝑽𝟒 = 𝟎. 𝟓𝟓𝒎/𝒔; 𝑽𝟔 = 𝟎. 𝟕𝟓𝒎/𝒔

𝟏𝒄𝒎 → 𝟏 Τ𝒎 𝒔𝟐

𝒙 =? ? → 𝟐𝒎/𝒔𝟐

Direction:

Origin: point 𝑮𝟑

Line of action: Horizontal

Magnitude:

To the Right

𝒂𝟑 = 𝟐 Τ𝒎 𝒔𝟐
𝒙 =

𝟏𝒄𝒎 × 𝟐𝒎/𝟐𝟐

Τ𝟏𝒎 𝒔𝟐

𝒙 = 𝟐𝒄𝒎

𝒂𝟑




